Efficiency vs dr

x 0.8r
< r
2 o7F
> -
Q C
$ 0.6
=
=
o 05
0.4
0.3
0.2
0.1
O G- : IlII:|I IlI 1l ; ll: :IIII:
= W DQM_ mkFlt_TT base noSeI
g —e— DQM_mKFit_TT_| base 8iter_noSel
—— DQM_mKFit_TT. OldFiles_v2_8i _noSel
0.9 il T ﬂ T 3
1]
0.t L ! =

107 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
0.5

P, jet
o
. D

0.35

©
w

0.25

etticiency vs AR(T

o
[N

0.15
0.1
0.05
Vel

Ratio
N

0.95

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu
0.5

0.45F

0.35F

efficiency vs PU
o
D
I

o
w
T

0.25F
0.2
0.15F
0.1

3640 50 6070 B0 00 100
Pileup

O[T T[T



	Contents
	Page 1


